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10.
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What is JeGRAS?

(A) Jharkhand online Government Receipts Accounting
System

(B) Jharkhand online Government Rural & Agriculture
Service

(C) Jharkhand online Government Rural Areas Services

(D) Jharkhand Growth Restructuring Action Scheme

Jharkhand is producing about what percentage of total
steel being produced in country:

(A) 40 -50% (B) 10-15%

(C) 20-25% (D) 30-40%

State animal of the Jharkhand?

(A) Elephant (B) Lion

(C) Dear (D) Python

Global Skill Summit 2019 was held in:

(A) Dhanbad
(C) Ranchi

(B) Jamshedpur
(D) Bokaro

It recently won Laureus sports for good Award for year
2019:

(A) A Jharkhand based NGO Yuwa

(B) A jharkhand based tribal community
(C) A Jharkhand sports person

(D) A Jharkhand dancer community

1.

2.

3.

4.

For the development of renewable energy, which 6.
agency was formed in Jharkhand:
(A) JSPCB (B) JSCCAU
(C) JREDA (D) JPDREA
In December, 2018, Jharkhand announces ¥ 7.
scheme to help farmers under Mukhya Mantri Krishi
Yojana-
(A) 22050 crore (B) 2250 crore
(C) 1250 crore (D) 22500 crore
" Damodar river of Jharkhand originates from: 8.
(A) Gupta Ganga Hills
(B) Deoghar Tilkut Hill
(C) Padma, Hazaribagh
(D) Latehar, Chota Nagpur Plateau
Find the wrong match of players with their games: 9.
(A) Deepika Kumari — Archery
(B) Mahendra Singh Dhoni — Cricket
(C) Pratima Kumari — Wrestling
(D) Jaipal Singh Munda - Hockey
One of the following won gold medal in 2010 Common 10.
Wealth Games:
(A) Mishal Banjamin Lakra
(B) Deepika Kumari
(C) Laxmi Padiya
(D) Pratima Kumari
[c-1]
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1.

12.

13.

14.

15.

16.

17.

18.

19.

20.

This festival is celebrated mainly by unmarried tribal
girls and mainly for good fertility and household:

(A) Karam (B) Jawa

(C) Rohini (D) Bandna

Identify the festival with the help of following
statements- '

The village priest takes three new earthen pots and fills
them with fresh water. The next morning he observes three
earthen pots and water level decreases inside. If the water
level decreases he predicts there would be famine and if
normal that is a signal of good rain.

(A) Karam (B) Sarhul

(C) Jawa (D) Tusu Parab

Sardari agitation was resulted because of:
(A) The economic disparity by the Christian converts and
sansari oraons

(B) Agrarian discontent . against . impositon of Begari
(forced labour)

(C) lllegal enhancement of rent by intermediaries
(D) Both (B) & (C)

When did Tana Bhagat movement start?.
(A) 1905 (B) 1914
(C) 1767 (D) 1850

First tribal leader who took arms in hand against
Britishers was:
(A) Birsa Munda

(B) Buddhu Bhagat
(C) Tilka Manjhi

(D) None of these
Maithon Dam is located in:
(A) Giridih

©) Dhanbad

(B) Ranchi
(D) Jamshedpur
Aruna Mishra is an Indian:

(A) Archer
(C) Weightlifter

(B) Boxer -
(D) Hockey Player

Lance Naik Albert Ekka died fighting:

(A) Indo Pak battle of 1971
(B) Indo Pak war of 1965
(C) Kargil war

(D) Indo china war

Who is the present governor of Jharkhand?

(A) M.O. Hasan Farook Maricar
(B) Syed Ahmed

(C) Draupadi murmu

(D) None of these

This is one of the most famous festivals celebrated 20.

during the black moon of month of Kartik?

(A) Jawa (B) Sarhul
(C) Bandna (D) Karam
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21,

22.

23.

24,

25,

26.

27.

28.

29.

30.

This is a folk dance performed in the family of

21. 98 @ @ g 8 R P R @ 8k g8 @ aRar

bridegroom during marriage- ® Rrar o @:

(A) Paika (B) Chhau (A) urza (B) BT&

(C) Domkach (D) Lahasua (e (D) wegen

One of the following is not an Indo Aryan language: 22. =1 @ oo WRedlg o A A R

(A) Angika (B) Nagpuri (ATt (B) Ty

(C) Korwa (D) Sadri (C) Frar (D) A=

Who has invented the Santhali script O Chiki: 23. ot fofy ot Rt @ arfes Reem Rear 2
(A) Pandit Raghunath Murmu L)L\) ufed g g,

(B) Byomkes Chakrabarti (B) = Wj

(C) Dr. Narayan Oraon (C) 3. TRET g

(D) Francis Ekka (D) wifqE war

Mica mines is found extensively in district of: 24. q9F B g AEER T B F o ad
(A) Giridih (B) Koderma (Ay Fikére - (B) BT
(C) Dumka (D) Both (A) & (B) () T (D) & (A) @ (B)
As per census 2011, it is the least populous district of 25. 2011 P FTOF 3 AR, HETS H TG HT TTHEAT
Jharkhand. aren forer & p

(A) Khunti (B) Latehar A ga © (B) RN

(C) Pakur (D) Lohardaga (C) gz L AD) TERE

The Multidimensional

poverty index 2018 report
prepared by United Nations Development programme

and the oxford poverty & human development Jed RS 3 IR} § Frer iR & R
initiatives makes the following observations about (A) FRES A B Gkl ferpre wefdfa frar
Jharkhand.

(A) Jharkhand had shown the least improvement

(B) Jharkhand had shown the greatest improvement

(C) Jharkhand had shown no improvement

(D) None of the above statement valid about Jharkhand

The agriculture economy of Jharkhand state is

characterized by:

(A) Dependence on nature, low investment
(B) Mono cropping with paddy as dominant crop

(C) Inadequate irrigation facilities and s

holdings
(D) All of these

Chhau dance is found in three styles named after the
location where they are performed. In Jharkhand name

of the location-

(D) Santhal

(B)#R@ve ¥ atftead R weiid e
(C) FI@vs 7 dive Mt fasprg selfa & fear

26. W% g REM FEET a7 dAR A v agheia R
%ZOWWWWW@TWW

(D) FIR@Ys A IR F 35 § q F 0 7 T& T @

(A) SR o FrfRan, = Faer
(B) & %8 & &I H M THd BEA

27. FREVS ¥ F SeigaEa # g P Ew aa w8

(C) gt Ri=rg glmmd o @y o) dimi S &9

‘mall and marginal (D)/B‘Tg?ﬁ oot
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28. B T ¥ oW el @ 7 ol § R T T
Frare e & argea R ot 1 sRers F we A R

(A) T (B) T
(A) Mayurbanj (B) Purlieu LAC) HUEHT (D) F=T
(C).Seraikella (D) Koderma "
Oraon comb-cut is a: 29. {9 comb-cut ¥ wH-
(A) Painting (B) Dance L (A) R (B) 5
(C) Dish (D) Tribal ornaments (C) M (D) SHSIRIg EyT.
This folk dance of Jharkhand has derived its name 30. FRGS 3 79 W% T & A T 99 & AW | ST By
from a tree- (A) SEEH (BY FHT
(A) .Paika (B) Karma (C) s & (D), Taa
(C) Chhau
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31.

32.

33.

34.

35.

36.

37.

38.

39.

40.

One of the following is not a style of paintings-

(A) Oraon Bhitichitra
(B) Jado Patiya

(C) Lahsva

(D) Santhali Bhitichitra

Jharkhand owns about of total miniral resources
of India- .

(A) 40% (B) 30%

(C) 15% (D) 55%

Jharkhand has 26% of India's reserves of:
(A) Coal
(C) lron ore

(B) Copper ore
(D) Bauxite

As per 2011 population census literacy rate of
Jharkhand state is-

(A) 76.24%

(B) 66.41%

(C) 56.42

(D) 62.41%

Find the odd one out on the basis of its location-
(A) Dassam Falls '

(B) Sadni Falls

(C) Jonha Falls

(D) Panch Gagh Falis

Jharkhand is bordered by ____in the North.

(A) Bihar (B) Odisha
(C) West Bengal (D) Chattishgarh

The famous 167 km “Singhbhum Trust Zone” the store
house of several important minerals, traverses-

(A) East Singhbhum

(B) Seraikela Kharsawan

(C) West Singhbhum

(D) All of the above

Bokaro is the famous for steel plant which is the
biggest in Asia and is built from the help of:

(A) Soviet Union

(B) America

(C) Japan

(D) Germany

Nilambar and Pitambar Sah, both brothers, who
created havoc for Britisher during freedom movement,
were the leaders of the:

(A) Santhal tribes

(B) Kharwar tribes

(C) Shabar tribes

(D) None of these

The district famous for stone & Biri making industry-

(A) Lohardaga (B) Chatra
(C) Pakur (D) Koderma

31.

32.

33.

34.

(8) e aifedr

(C), meg
(D) e affafer

(AY 40% (8) 30%
(C) 15% (m); B2e
s 3 S B P @1 26% TR SR
(A P (B) T ST
(©) e P A
2011 @ SR $ ST, HTES T F T T R
(A}, 76.24%
(B) 6641%
(C) 56.42

35.

36.

38.

39.

(D) 62.41%

mﬂgmq—{mﬁa%ﬁaaﬁwﬁ:
(A) T SIS
(B), HeA S
(C) ST ST
(D) U= 919 SRSt

FRETE I A ... % gl & @0 g R
(B) anfeam
(D) BT
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eyt wh & e €, P @ areme ST R-
A, T Rem
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(€) "R=rh Rz
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(A) O SR

F
E
4
4
2
5
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\_IB) TWEX Seiiiey

(C) TR STy
(D) T & ¥ &

40. T M A A AT F R Ty R B

) v
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(A) WrerETm (By Ia

(D) FEH
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41,

Lawalong wildlife sanctuary is located within-

(A) Deoghar district
(B) Chatra district

* (C) Bokaro district

42.

43.

44,

45.

46.

47.

48.

49,

50.

(D) Garhwa district

The state of Jharkhand witnessed presidential rule
since it's formation-

(A) Two times (B) Three times
(C) Four times (D) Five times

Cultivable area of the state of Jharkhand - {choose
best answer)

(A) 48 lakh hectares
(B) 38 lakh hectares
(C) 79 lakh hectares
(D) 59 lakh hectares

Jharkhand agriculture performs —

(A) Far above the national average

(B) Far below the national average

(C) Just equal to the national average

(D) Marginally above the national average

Share of cultivated land used for cash crops in
Jharkhand: (Choose best answer)
(A) 15% (B) 20%
(C) 10% ‘(D) 5%

“Saubhagya yojana” launched by the chief minister
Raghubar Das is aimed at providing — to all villages
across the state of Jharkhand-

(A) Drinking water

(B) Electricity

(C) Sulabh Sauchalayas

(D) Free education to girls

Chhuttupalu valley known as Lalki Ghaati is located in
this district:

(A) Ramgarh (B) Khunti

"~ (C) Gumla (D) Lohardaga

Identify the wrong match:

(A) Vaidyanath temple — Deoghar
(B) Tapovan — Ramgarh

(C) Haldighati Temple — Gumla
(D) Jagannath Temple — Ranchi

The recorded forest area constitutes __  of the
geographical area of Jharkhand: .

(A) 18.59% . (B) 2961% -

(C) 81.27% (D) None of these

Jharkhanﬂ has forest types-

(A) Tropical Moist Deciduous

(B) Tropical dry Deciduous

(C) Subtropical Broadleaved Hill forest.
(D) All of these

41.

42

43.

44,

T gy AR e @ oA Re &

(A) 3quR R

L(B)- Ta frelr

(C) AP Forerm

(D) e e

e T P $ q% A o TR 9 ... 3R ar
§3IT:‘

(AY @ &R L-(B) T A

(C) IR A} (D) 9= A

AEUE T 1 G- &7 § (FEe S @ T )

(A) 48 AT BFIX
L(B)-38 T@ 3HIT
(C) 79 W@ BHRAX
(D) 59 W@ BFRAX

FREve F F e &
(A) TS o & FET TR

L(B) T & dga =

(C) TS T & T aE
(D) T SiRT & A S

45, wREvs ¥ TR waw B R wgE G ge & @ R @

(W IeR F T4 W) '
(A) 15% X  (B) 20%
(C) 10% , (D) 5% .

46. O TR T4 B KA R W A Ao B RE
AREYE T § AR-IR G A B — I FIA 8
(A) YT

U=(B) Fril
(C) §e slEa
(D), el & g R

47. qEEH & D AW ¥ R gzowg o g6 PR T Rad @

LAR) TG (B8) g
(C) Taem (D) sERETm

48. m@%ﬂwﬁ

(A) T HRT - R

+(B) qUET - IS

50.
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_(C)mﬁmﬁﬁﬁ??m
(D) = HfER - =R

(A) 18.59% ' (B) 29.61% -
(C) 81.27% (D) FH & & 7
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51.

52.

53.

54,

55.

56.

57.

58.

59.

60.

i o 1

The H.C.F. of 204,190 and 1445 is : 51.
(A) 17 (B) 18
(C) 19 (D) 21
A number whose fifth part increased by 4 is equal to.  52.
its fourth part diminished by 10, is :
(A) 240 (B) 260
(C) 270 (D) 280
When a plot is sold for ¥18,700, the owner loses 15%. 53.
At what price must the plot be sold in order to gain
15%7?
(A) 21,000 (B) 22,500
(C) 25,300 (D) 325,800
A sum of 12,500 amounts to T15,500 in 4 years at the 54.
rate of simple interest. What is the rate of interest?
(A) 3% (B) 4%
(C) 5% (D) 6%
A goods train runs at a speed of 72 km per hour and 55.
crosses a 250 m long platform in 26 seconds. What is
the length of the goods train?
(A) 240 m (B) 250 m
(C) 260 m (D) 270 m |
The average of 5 consecutive even numbers A, B,C,D  56.
and E is 66. What is the productof Band E ?
(A) 4352 (B) 4340
(C) 4480 (D) 4224
Thirty-five women can do a piece of work in 12 days. 57.
How many women would be required to do the same -
work in 21 days? -
(A) 20 (B) 30
(C) 18 (D) 32
There were 40 girls in a class. Smita, who weighs 58.
50kgs, leaves the class. A new girl Rajni comes and
increases the average weight of the class by 1/4 kg.
Find the weight of Rajni.
(A) 40kg (B) 60kg
(C) 30kg (D) 35kg
A bag contains 50 paise, 25 paise, and 10 paise coins 59.
in the proportion of 3:4:5. The total value of these
coins is Rs.12. Find the number of 25 paise coins.
(A) 8 (B) 16
(C) 24 (D) 25
Some men promised to do a job in 18 days, but six of 60.
them became absent and remaining did the job in 20
days. What is the original number of men?
(A) 30 (B) 40
(C) 60 (D) 20

[C-6]

(C) 18

204,190 T@T 1445 F TETT qaIEd® &
(8) 18
por 17
Yg 19 (D) 21
mma‘»,qia%i%@ﬁnﬁq@maﬁwqgm
ﬁ%eﬁam&mwaﬁ%mmma,g;
A) 240 (B) 260
EC)) 270 (D) 280
o o TEvs A {18,700 T A M, A ARG H 1
F THAE ol 8l s qEre B R T W A gy
15% &1 @9 & D!
(A) 721,000 (B) 322,500
(C),,zzs.soo @ 725,800

?12.5ooﬂ@mmmwﬂ?iﬁﬂ?1s,sooﬁ
ot 21 = # e T B

(A) 3% (B) 4%

(C) 5% LID)- 6%

Reeinfiex Sfy B @ 91 @ Se & od 250
%T@;;ﬁﬁzsﬁmﬁmmhamﬁ
s F 87
(A) 240 WX
(C) 260 HX |
S wR@ @ gensl A, B, C, D T E F1 3 66 31 B
qET E H1 R T 87
(A) 4352 (B) 4340
(C) 4480 (D) 4224
35 HRad o B F 12 B F FX ) & 3@ w3 @
21 R & @@ 73 & R R sl #t sea &ri?

(A) 20— (B) 30
(D) 32

(8) 250 HiX
(D) 270 HreX

wF F& 7 40 A ¥ Revar Rresr o 50 R g,
e BITHT ael AN 1 O AHE OB TS ARG A1 Al @
Rre® HROT T 1 oNGd 9o 1/4 R 98 ST 2
W B a9 AT B

(A) 40 Rearm (B) 60 famm

(C) 30 freizme (D) 35 fhaim

w 0% ¥ 50 9], 25 ¥ AR 10 W B R 3453
argu & W §¢ ¥ 5T Rl B gw 59 12 50 &1 25 W
& Rl i g s s

(A 8 (B) 16
©) 24 . (D) 25
78 arll ¥ T FW R 18 R T qU B & ge R A

I R B A e & e ol 9/ 3 20 R A 3 [
feram @R & arafas e R 6

(A) 30 (B) 40
(C) 60 (D) 20
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61.

62.

63.

64.

65.

66.

67.

68.

69.

70.

S S

The chief instrument through which Lord Dalhousie 61.

implemented his policy of annexation was the
(A) Treaty of Indian Allies

(B) Doctrine of Lapse

(C) Modernizing Indian Society

(D) Treaty of Perpetual Friendship

Ojapali is a famous dance form of which state? 62.
(A) Bihar (B) Maharashtra

(C) Odisha ) (D) Assam

A major dance form of Andhra Pradesh is: 63.

(A) Kuchipuddi

(B) Bharatnatyam
(C) Raasleela

(D) Bihu
The Bodo language is spoken in which of the following
states ?

(A) Mizoram
(C) Assam

(B) Tamil Nadu
(D) Arunachal Pradesh -
Holding of Panchayat elections is decided by:

(A) The District Magistrate (B) Central Government
(C) State Government (D) None of these

Who among these has been given the Bharat Ratna 66.

award in January 2019?

(A) Atal Bihari Vajpayee
(C) Pranab Mukherjee

(B) Sachin Tendulkar
(D) C.V. Raman

Match list | with List Il: 67.
List -1 List-1l 7[
Cup Games

A. THOMAS CUP 1. Football

B. FIFACUP 2. Polo

C. AGA KHAN CUP 3. Lawn Tennis

D. DAVIS CUP 4. Hockey

E. EZRA CUP 5. Badminton Championship

(A) A4B1C5D3E2
(C) A1B2C4 D3 E5

(B) A5B1C4 D2 E3
(D) A5B1C4 D3 E2

Which is the highest Gallantry Award given by Govt. of 68.

India?

(A) Mahavir Chakra
(C) Ashok Chakra

' (B) ParamVir Chakra
(D) Shaurya Chakra

The 76" anniversary of Quit India Movement named as  69.

August Kranti

2018.
(A) 8" August
(C) 15" August

Diwas was obseived in India on

(B) 9" August
(D) 19" August

Which one of the following travelers visited India 70.

during the Gupta period?

(A) Hiuen-Tsang
(C) Marco Polo

(B) Fa-Hien
(D) Nicolo Conti

P71’

64.

65.

e TR R e d d swdieh 3 TR A A
Hifr Fratfaa @ A, an

(A) WY P gt @

(B) =gTH &l R

(C) W GHIST

(D) Rt e #t Gy
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(C) i (D) Fg
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(C) T THR (D) ¥ & ¢ 7
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(C) wE Fasit (D) @.4q. oA
TR | A g 0 gARE B
= g -0
5 s
A OmE w9 1. GEE
B. W FY 2. 4@t
C. 3T @H F9 3. @ ™
D. 3R¥ a9 4. 2
E. 390 &9 5. ¥ fres AfggARw

(A)-A4 B1 C5 D3 E2 (B) A5B1C4 D2 E3
(C) AMB2C4D3E5 By A5B1C4D3E2

ARG TRHR ERT o Gt el JUaR S-a1 87

(A) WBHER =H (B)-9THEIY T
(C) ANH = (D) 9 =%

AT i Raw & w9 F ME 9Ra 8 aee @ 764t

TS ARA 7 ... 2018 i IERE AN T o4y
(A) 8 3T (B) 9 T
(C) 15 Tt (D) 19 IR
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71.

72.

73.

74.

75.

76.

77.

78.

79.

80.

Which is right statement related to Article 370 of the 71.
Indian Constitution
(A) Provides reservation to OBCs
(B) Provides reservation to Women
(C) Provides special status to Jammu and Kashmir state
(D) Provisioris for human rights
What is the minimum qualifying age to' become a 72.
member of Grama Panchayat?
(A) 18 years (B) 21 years
(C) 25years (D) 30 years
The ozone layer restricts 73.
(A) Ultraviolet radiation (B) Visible light
(C) X-rays (D) Gamma rays
Sardar Sarovar dam is built on the river 74.
(A) Tapti (B) Mahi
(C) Chambal (D) Narmada
Which one among the following is not an important = 75.
factor of climate of an area? 1
(A) Latitude
(B) Longitude
(C) Altitude
(D) Distance from the sea
The phases of moon are caused by i 76.
(A) The rotation of the earth
(B) The rotation of the moon
(C) The revolution of the earth
(D) The revolution of the moon
According to which of the Articles in the Constitution of 77.
India, the President has a power to confer or proclaim a
state of emergency in the whole or part of India if he/she
feels that a grave situation has arisen, in which the
security of India or part of its territory might get
threatened by war, external aggression, or rebellion?
(A) Article 352 (B) Article 354
(C) Article 356 (D) Article 360
Where are the coal reserves of India largely concentrated? ~ 78.
(A) Son valley (B) Mahanadi valley
(C) Damodar valley (D) Godavari valley
(

Which of the following rivers have almost the same 79.
point of origin ?
(A) Tapi and Beas
(B) Brahmaputra and Ganga
(C) Indus and Ganga
(D) Brahmaputra and Indus
Lines joining places receiving equal amount of rainfall  80.
are called :
(A) Isohelines (B) Isobars
(C) Isotherms (D) Isohyets

[C-8]
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81.

82.

83.

84.

85.

86.

87.

88.

89.

90.

Match List | with List II: 81.
List | (Battles) List Il (Fought Between)
A. Kalinga War 1. Ibrahim Lodhi and Babur
B. First Battle of Panipat 2. Rana Pratap and Akbar
C. Battle of Haldighati 3. Ashok and Kalinga
D. Battle of Khanwah 4. Babur and Rana Sangha
(A) A3, B2, C1,D4 (B) A3,B1,C2, D4
(C) A3, B4,C2, D1 (D) A3, B2, C4, D1
Put the following dynasties in their chronological 82.
order: .
A. Lodhi B. Tughlaq
C. Slave D. Khilji
(A) CBDA (B) DCBA
(C) CDBA (D) BCDA
What is forest cover of total land area of our country 83.
(approx.):
(A) 35% (B) 22%
(C) 40% (D) 18%
The monetory unit of Bangladesh is: 84.
(A) Rupee (B) Taka
(C) Pound (D) Dollar
A solar eclipse occurs when: 85.
(A) The Moon comes between the Earth and Sun
(B) The Sun, Moon and Earth are in triangular formation
(C) The Earth shadow falls on the moon
(D) All of these
Which was the first committee to recommend 86.
Panchayati Raj system in India?
(A) PV Narsimha Rao committee
(B) Balwant Rai Mehta committee
(C) LM Singhvi committee
(D) Morarji Desai committee
Currency of Holland is: 87.
(A) Yen (B) Doliar
(C) Euro (D) Deutch Mark
In which year the slogan ‘Quit India’ was given by 88.
Gandhiji:
(A) 1940 (B) 1942
(C) 1939 (D) 1938
The speaker of Lok Sabha is removed by the: 89.
(A) President
(B) Majority of members of Lok Sabha
(C) Prime Minister
(D) Member of both houses of Parliament
‘Kadambari’ was written by: 90.
(A) Ravindra Nath Tagore (B) Namdev
(C) Banabhatt (D) None of these
[C-9]

-1 & g -0 A AR B

- (gs) -1l (R e st )
A asérgf 1. Zaed Al T aEY
B. UG H FAH JH—2. TN F9 W HFFAC
C. & ol & gs 3. A9F @ FAT

D. @il # §& ——d4. FRR @ T /W

(A)~A3, B2, C1, D4 (B) A3, B1,C2,D4
(C) A3, B4, C2,D1 (D) A3, B2, C4, D1

i 49t o7 Browd 3 AFER FaRgd B

A. B. W&
C. W D. Reewi |
(A) CBDA (B) DCBA
(C) CDBA (D) BCDA

TR 29 B FW i B 9 &= & ()

(A) 35% (B) 22%
(C) 40% (D) 18%
IERY & AR S5 ¥

(A)/STT —(B) TH
(c) Qg (D) SR
g meor F4 B @

(A)-59 =wm 9 @ g & 9 o SR @

(B) W g, T @@ gedt Breehy wew f o 8

(C) S Y=ft & 8RN THAT T U= @

(D) 3uGH wH

qRa  qEEd U9 TR $ SRIAd B aen wed st
FAA P-4 4r°

(A) .8, TR @ FAd

(B) Twa~d T Nl HA

(C) w1, Rjgd #:7
(D) ARRER 3[R FAS
BAS A YW H AW AT B
(A) & (B) IR
~€) T (D) $g9 %
R ad Al o & ‘aRa BYeY W R T
(A) 1940, ~(B) 1942
(C) 1939 (D) 1938

AmE & aufy B BFES R sern o g B

(A) Tsf

(B) ¥HHW % TgHEH qawdl &

(GRLIELE

(D) Hoe & AT wl B wER aw

= s e W R

(A) = T/ ¥R (B) TR

(C) I (D) 57 & ¢ T

Page - 10



91.

92.

93.

94.

95.

96.

If a Minister of a state wants to resign, to whom he 91.

should address the letter of resignation?
(A) Chief Minister of State

(B) Speaker of Vidhan Sabha
(C) Governor of the State

(D) Leader of his/her political party

Arjuna Award in India is given for

(A) Bravery on battlefield

(B) Outstanding performance in sports
(C) Exceptional service in emergency
(D) Exceptional service of slum dwellers

Bihu is folk festival of :
(A) Assam

(B) Jharkhand
(C) Karnataka

(D) Kashmir

Kathakali is a dance prevalent to which state?

(A) Kerala (B) Karnataka
(C) Tamil nadu (D) Andhra Pradesh

Match the states (List 1) with their capitals (List ):
States (List 1)

Capitals (List Il)
Chattishgarh

A 1. Kohima

B. Telangana 2. Agartala
C. Tripura 3. Gangtok
D. Nagaland 4. Raipur

E. Sikkim 5. Hyderabad

(A) A4,B3,C2, D1, E5

(B) A2, B5, C1, D4, E3
(C) A4,B5,C3.D1, E2

(D) A4,B5,C2,D1,E3
Number of states and Union Territories in India:

(A) 27 States and 9 Union Territories
(B) 29 States and 7 Union Territories

C e
- (C) 28 States and 7 Union Territories

97.

98.

99.

100.

(D) 28 States and 9 Union Territories

The highest civilian award of India is

(A) Arjun Award (B) Bharat Ratna
(C) Padam Shree (D) Ashoka Chakra

As per the newspaper reports Government of India has

" finally agreed to purchase advanced MRMRs for |ts

naval forces. What are these MRMRs?

(A) Rockets. (B) Aircraft
(C) Warships (D) Radar system

The cépital of the Mughal Empire was shifted from

92.

93.

94.

95.

96.

97.

98.

99.

Agra to Delhi by

(A) Jahangir (B) Aurangzeb

(C) Humayun (D) Shah Jahan

The Rajya Sabha (the upper house of the Parliament of 100.
_ India) can be dissolved by :

(A) Lok Sabha {B) Constitutional amendment.

(C) President. (D) None of these

[C-10].
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101. Which energy conversion takes
photosynthesis?

(A) Chemical energy to light energy
(B) Mechanical energy to light energy

(C) Light energy into Chemical Energy
(D) None of these

102. Who invented vaccination for small pox?
(A) Jonas Salk
(B) Edward Jenner

(C) Waldemar Mordecai Haffkine
(D) Charles Darwin

103. On heating which of the following substances, Plaster 103
of Paris can be obtained?

place during 101.

102.

T @A F PF-|1 Foll SraRel B 87

(A) ETEfE S T St B
(B) aifs Tt & BT FoAt
(C) WISl Foft &/ e St A
(0) ™ § 1 T

% & fu & @ enfasp feew fhar &r?
(A) 9T TIh

(BY Uga2 ST

(C) TR AIREIFE BB

(D) T SfdA

R @ A2 o # i F W) weeR oifs IR

I R o qear 87

(A) Washing Soda (A) 99 & Grer
(B) Baking Soda (B) 9 @rer
(C) Gypsum (Cy R
(D) Granite (D) T
104. Night blindness is caused due to deficiency of: 104. TR o 0 @ B &
(A) Vitamin A (B) Vitamin B (A)/faerfiE A (B) e B
(C) Vitamin C (D) Vitamin D (©) R (D) R D
105. Who discovered electrons: BT FAFH B G e
(A) Rutherford (B) Niel Bohr (A) EHS (8) A T
(C) J.J.Thompson (D) None of These (C)-31.31. amE (D) 4 & &% T
106. Which of the following is a not a renewable form of 106. frst ¥ & P Foit B Th TABCNT S T 27
energy? (A) a-(";]' Wf
(A) Wave energy (B) amdig faga §4=
(B) Thermal power plant (C) i Foit
(C) Geothermal energy )] g et
(D) Tidal energy
107. The persistent use of CFCs or Chloro Fluoro Carbons 107. CFC /el & Tt FEAl B FReR @ @ 6 ww
is leading to which of the following threats? Pret & @ Pi-a1 Taxr I@ 8t @ 87
(A) Soil Degradation (A) a1 Fr=iiseor
(B) Water poliution ' (B) SKT HHT :
(C) Ozone layer depletion L) a9 wxa f:gmor
(D) None of these (D) T q Pg Tl
108. Echo is caused due to- 108. wireafy Fr HROT | I Bt @
(A) Reflection (B) Refraction (A) TUEH (B) 19ae
(C) Rarefaction (D) None of these (C) e (D) 3™ § Fig 7T
109. Which of the following tissues is responsible for 109. W B Hgugd @ fag fee & @ IF-w S0 Reder ?7
storing fat? (A) Jaifer (B) 991 &
(A) Cartilage "~ (B) Adipose Tissue (C) I FaH (D) &% & B &
(C) Areolar Tissue (D) None of these ‘ 7
110. Which of the following produces antibodies to fight 110. F/=i # & F WM | WX 3 R wfy Ros =1 Hwar 37
diseases? ‘ (A) T T IR '
(A) Red Blood Cells (B) 3T Th HifBT
(B) White Blood Cells (©)
(C) Blood Platelets (D) ¥ | #ig 7

(D) None of these

[C-11]

Page. P



1.

112.

113.

114,

115.

116.

117.

118.

119.

120.

What is the Sl unit of electric current?

(A) Watt (B) Volt
(C) Ampere (D) Coulomb

Which of the following explains the phenomenon of
twinkling of stars?

(A) Reflection

(B) Atmospheric Refraction

(C) Scattering of light

(D) Dispersion

Application of zinc to iron or steel materials to prevent
them from rusting is known as-

(A) Alloying (B) Bleaching
(C) Lubrication (D) Galvanisation

Which of the following is not a greenhouse gas?
(A) Nitrogen (B) Methane
(C) Water Vapour (D) Nitrous Oxide

Which of the following is used in cars to measure
distance travelled?

(A) Odometer
(C) Distometer

(B) Barometer
(D) Speedometer

Which of the following is used to measure the purity of
a sample of milk?

(A) Hydrometer
(B) Barometer
(C) Lactometer
(D) None of these

Lack of lodine causes which of the following
diseases?

(A) Hypokalemia
(B) Goitre

(C) Thyroid

(D) Night Blindness

Which of the following devices is used to measure the
direction and speed of underwater objects?

(A) Silicon Diode (B) Hydrometer
(C) . Speedometer (D) Sonar

Where are proteins synthesised in the cell?

(A) Cell wall

(B) Lysosomes
(C) Ribosomes
(D) Chromoplast

Water kept in an earthen pot becomes cool during
summer, due to the phenomenon of- )

(A) Osmosis
(B) Diffusion
(C) Transpiration
(D) Evaporation

[C12]
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113. T2 A1 g B TGSl F ST TR A W FA D Riw o
F AT Foaw 2

(A). A3 (B) Rsm
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15. B0 § a7 A 1 g 7w 3 Rig Brey F ¥ Rogar s Roay
ST 87
(A) SfErfiex (B) AZHG
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S 87 ~
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(B) ag AT
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(D) &% & B &
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" (A) I QAR T
(By ®ar
(C) o=
(D) R aTvera
118. Sitofelid Fegal ) Rwn ok iy o 3 R Py & @
BE-Y I H FEANT R ST 37
(A) R @ (B) =9 T=HMl
(C) T (D) X
119. FH § N T dRRT B T?
(A) I Bl
(B) wEEE™
AL) TEREH
(D) BT
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